Eisenhammer Rodick & Kohn – 3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> January 31, 2021 Invoice #: 51038

RE:	RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments.			
	TOTAL SERVICES FOR THIS MATTER	\$250.00		
RE:	LITIGATION			
	TOTAL SERVICES FOR THIS MATTER	\$1,361.00		
RE:	BOARD GOVERNANCE			
	TOTAL SERVICES FOR THIS MATTER	\$3,631.00		
RE:	BOARD POLICIES			
	TOTAL SERVICES FOR THIS MATTER	\$155.00		
RE:	FOIA-OMA			
	TOTAL SERVICES FOR THIS MATTER	\$8,701.00		
RE:	STUDENTS			
	TOTAL SERVICES FOR THIS MATTER	\$495.00		
RE:	SPECIAL EDUCATION			
	TOTAL SERVICES FOR THIS MATTER	\$85.00		

Eisenhammer Rodick & Kohn –

Hinsdale 8	86
------------	----

RE:	SEIU NEGOTIATIONS		
	TOTAL SERVICES FOR THIS MATTER		\$620.00
RE:	PARAPRO		
	TOTAL SERVICES FOR THIS MATTER		\$279.00
RE:	ННЅТА		
	TOTAL SERVICES FOR THIS MATTER		\$930.00
RE:	2021 HTHSSSA NEGOTIATIONS		
	TOTAL SERVICES FOR THIS MATTER		\$713.00
RE:	PERSONNEL		
	TOTAL SERVICES FOR THIS MATTER		\$744.00
RE:			
	TOTAL SERVICES FOR THIS MATTER		\$10,468.00
RE:	REAL ESTATE		
	TOTAL SERVICES FOR THIS MATTER		\$4,278.00
RE:	CONTRACTS		
	TOTAL SERVICES FOR THIS MATTER		\$2,728.00
BILL	ING SUMMARY		
	FOR PROFESSIONAL SERVICES RENDERED	154.60 hrs	\$35,438.00
	ADMINISTRATIVE EXPENSES		\$2,126.28
	TOTAL AMOUNT OF THIS BILL		\$37,564.28
	PREVIOUS BALANCE		\$39,923.84
	BALANCE DUE		\$77,488.12



Eisenhammer Rodick & Kohn -

Hinsdale 86

01/15/2021	SMR	Review Attorney General letter and email Judar OMA/PAC Request for Review; strategize and research with Attorney McKeown	0.80 hrs	310 /hr	\$248.00
01/15/2021	KPM	Phone conference with Attorney Richart re: Judar OMA request for review	0.60 hrs	250 /hr	\$150.00
01/20/2021	SMR	Email correspondence concerning OMA/PAC review	0.10 hrs	310 /hr	\$31.00
01/21/2021	SMR	Phone conference re: Judar OMA Request for Review; phone to Judar with Attorney McKeown re: same	0.30 hrs	310 /hr	\$93.00
01/21/2021	КРМ	Phone conference re: Judar OMA request for review [NO CHARGE FOR SECOND ATTORNEY]	0.30 hrs	250 /hr	\$0.00

Eisenhammer Rodick & Kohn -

Hinsdale 86

Hinsdale 86					page 5
01/21/2021	KPM	Phone call to opposing counsel with Attorney Richart re: OMA complaint re: Judar OMA request for review [NO CHARGE FOR SECOND ATTORNEY]	0.10 hrs	250 /hr	\$0.00
01/22/2021	SMR	Phone conference with Judar and Attorney McKeown re: Judar OMA Request for Review; email re: same	0.30 hrs	310 /hr	\$93.00
01/22/2021	КРМ	Phone call with opposing counsel and Attorney Richart re: response to Judar OMA request for review [NO CHARGE FOR SECOND ATTORNEY]	0.20 hrs	250 /hr	\$0.00
01/22/2021	KPM	Begin to review research	0.80 hrs	250 /hr	\$200.00
01/25/2021	KPM	Draft Judar OMA request for review	5.30 hrs	250 /hr	\$1,325.00
01/26/2021	SMR	Research and analyze re: Judar Request for Review; strategize with Attorney McKeown re: same	0.50 hrs	310 /hr	\$155.00
01/26/2021	KPM	Continue to draft Judar OMA request for review	7.00 hrs	250 /hr	\$1,750.00
01/26/2021	KPM	Phone call with Attorney Richart re: Judar OMA request for review	0.50 hrs	250 /hr	\$125.00
01/27/2021	SMR	Review and revise Judar OMA/PAC Request for Review; consult with Attorney McKeown phone conference with Assistant Attorney General Jones re: extension and issues	1.10 hrs	310 /hr	\$341.00
01/27/2021	KPM	Continue to draft Judar OMA request for review	2.10 hrs	250 /hr	\$525.00
01/27/2021	КРМ	Review re: Judar OMA request for review	1.50 hrs	250 /hr	\$375.00
01/27/2021	КРМ	Revise Judar OMA request for review	0.20 hrs	250 /hr	\$50.00
01/27/2021	KPM	Consult with Attorney Richart Judar OMA request for review	0.30 hrs	250 /hr	\$75.00
01/27/2021	KPM	Phone call with Attorney Richart and Assistant Attorney General Jones re: extension of time to file response letter to Judar OMA request for review; draft and send email to Jones re: same	0.40 hrs	250 /hr	\$100.00
01/27/2021	JAJ	Review	0.10 hrs	240 /hr	\$24.00
01/28/2021	КРМ	Revise Judar Request for Review; research confer with Attorney Richart re: Judar	2.90 hrs	250 /hr	\$725.00

OMA Request for Review

Eisenhammer Rodick & Kohn

Hinsdale 86

page 6 01/29/2021 SMR Review and revise PAC/OMA 2.50 hrs 310 /hr \$775.00 Request for Review re: Judar; review ; research and strategize with Attorney McKeown ; correspondence with Attorney General's office and update re: extension 01/29/2021 KPM Revise and compile re: Judar 0.20 hrs 250 /hr \$50.00 OMA Request for Review Confer with Attorney Richart 01/29/2021 KPM 0.50 hrs 250 /hr \$125.00 Judar OMA Request for Review 01/29/2021 KPM Continue to research 0.30 hrs 250 /hr \$75.00 re: Judar OMA Request for Review Review and revise 01/31/2021 KPM Judar OMA 0.70 hrs 250 /hr \$175.00 Request for Review

Eisenhammer Rodick & Kohn – 3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> February 28, 2021 Invoice #: 51316

RE:	RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments.				
	TOTAL SERVICES FOR THIS MATTER	\$250.00			
RE:	LITIGATION				
	TOTAL SERVICES FOR THIS MATTER	\$1,548.00			
RE:	BOARD GOVERNANCE				
	TOTAL SERVICES FOR THIS MATTER	\$2,589.00			
RE:	BOARD POLICIES				
	TOTAL SERVICES FOR THIS MATTER	\$1,922.00			
RE:	FOIA-OMA				
	TOTAL SERVICES FOR THIS MATTER	\$3,580.00			
RE:	STUDENTS				
	TOTAL SERVICES FOR THIS MATTER	\$1,497.00			
RE:	SPECIAL EDUCATION				
	TOTAL SERVICES FOR THIS MATTER	\$4,185.00			

Eisenhammer Rodick & Kohn –

TOTAL SERVICES FOR THIS MATTER \$0 RE: SEIU NEGOTIATIONS TOTAL SERVICES FOR THIS MATTER \$31 RE: PARAPRO TOTAL SERVICES FOR THIS MATTER \$1,302	0.00
RE: PARAPRO	
TOTAL SERVICES FOR THIS MATTER\$1,302	.00
RE: HHSTA	.00
TOTAL SERVICES FOR THIS MATTER \$620	.00
RE: PERSONNEL	
TOTAL SERVICES FOR THIS MATTER\$1,795	.00
RE: TOTAL SERVICES FOR THIS MATTER \$11,992	2.00
RE: CONTRACTS	
TOTAL SERVICES FOR THIS MATTER \$2,666	.00
BILLING SUMMARY	
FOR PROFESSIONAL SERVICES RENDERED144.70 hrs\$33,977	.00
ADMINISTRATIVE EXPENSES \$2,038	.62
TOTAL AMOUNT OF THIS BILL\$36,015	.62
PREVIOUS BALANCE \$77,488	.12
BALANCE DUE \$113,503	.74

Eisenhammer Rodick & Kohn -

Hinsdale 86

02/01/2021	SMR	Revise and finalize Judar PAC/OMA Request for Review and consult with Attorney McKeown ; consult with Attorney McKeown	1.20 hrs	310 /hr	\$372.00
02/01/2021	KPM	Confer with Attorney Richart send copy of draft ; compile and forward to Asistant Attorney General Jones; confer with Attorney Richart re: same	1.70 hrs	250 /hr	\$425.00
02/02/2021	SMR	Review correspondence from Attorney General and forward re: Judar Request for Review	0.10 hrs	310 /hr	\$31.00
02/02/2021	KPM	Review email correspondence from Assistant Attorney General Jones re: deadline for opposing counsel to reply to Board's response to OMA request for review	0.10 hrs	250 /hr	\$25.00

Eisenhammer Rodick & Kohn -Hinsdale 86

02/11/2021	SMR	Review Review	re: OMA/PAC Request for	0.20 hrs	310 /hr	\$62.00
02/11/2021	KPM	Review draft and send	re: OMA request for review;	0.30 hrs	250 /hr	\$75.00

Eisenhammer Rodick & Kohn – 3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> March 31, 2021 Invoice #: 51412

RE:	RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments.		
	TOTAL SERVICES FOR THIS MATTER	\$250.00	
RE:	LITIGATION		
	TOTAL SERVICES FOR THIS MATTER	\$1,762.00	
RE:	BOARD GOVERNANCE		
	TOTAL SERVICES FOR THIS MATTER	\$3,620.00	
RE:	BOARD POLICIES		
	TOTAL SERVICES FOR THIS MATTER	\$558.00	
RE:	FOIA-OMA		
	TOTAL SERVICES FOR THIS MATTER	\$1,751.00	
RE:	BOARD SEMINAR- ED EQUITY		
	TOTAL SERVICES FOR THIS MATTER	\$248.00	
RE:	FINANCE		
	TOTAL SERVICES FOR THIS MATTER	\$155.00	

Eisenhammer Rodick & Kohn – Hinsdale 86

RE:	2021 STUDENT HANDBOOK REVIEW		
	TOTAL SERVICES FOR THIS MATTER		\$9,000.00
RE:	DISPUTE		
	TOTAL SERVICES FOR THIS MATTER		\$271.00
RE:	ннята		
	TOTAL SERVICES FOR THIS MATTER		\$1,147.00
RE:	2021 HTHSSSA NEGOTIATIONS		
	TOTAL SERVICES FOR THIS MATTER		\$248.00
RE:	PERSONNEL		
	TOTAL SERVICES FOR THIS MATTER		\$4,175.00
RE:			
	TOTAL SERVICES FOR THIS MATTER		\$14,344.00
RE:	CONTRACTS		
	TOTAL SERVICES FOR THIS MATTER		\$3,856.00
BILL	ING SUMMARY		
	FOR PROFESSIONAL SERVICES RENDERED	209.80 hrs	\$41,385.00
	ADMINISTRATIVE EXPENSES		\$2,483.10
	TOTAL AMOUNT OF THIS BILL		\$43,868.10
	PREVIOUS BALANCE		\$113,503.74
	TOTAL PAYMENTS		\$39,923.84
	BALANCE DUE		\$117,448.00
			<u> </u>

Eisenhammer Rodick & Kohn -Hinsdale 86

03/05/2021	SMR	Review and analyze and analyze re: Judar OMA Request for Review; consult with Attorney McKeown re: same	0.30 hrs	310 /hr	\$93.00
03/05/2021	KPM	Confer with Attorney Richart re: Judar OMA request for review	0.30 hrs	250 /hr	\$75.00
03/10/2021	KPM	Begin to draft generation of the second seco	1.40 hrs	250 /hr	\$350.00

03/25/2021	SMR	Review Judar OMA with Attorney McKeown; phone to Att	; conference	0.40 hrs	310 /hr	\$124.00
		General's office re: Judar OMA Reques	•			
		status and sur-reply				

Eisenhammer Rodick & Kohn –

Hinsdale 86

Hinsdale 86				page 6	
03/25/2021	SMR	Phone conference re: Judar OMA Request for Review; consult with Attorney McKeown re: same [NO CHARGE]	0.20 hrs	310 /hr	\$0.00
03/25/2021	KPM	Consult with Attorney Richart re: Judar OMA request for review; phone conference re: same [NO CHARGE]	0.20 hrs	250 /hr	\$0.00
03/29/2021	SMR	Phone conference with Assistant Attorney General and consult with Attorney McKeown re: Judar OMA/PAC Request for Review	0.40 hrs	310 /hr	\$124.00
03/29/2021	КРМ	Phone conference with Josh Jones and Attorney Richart re: submitting sur-reply in response to Judar OMA request for review; confer with Attorney Richart X 3 re: same; draft and send email correspondence to Jones re: sur-reply; draft and send email correspondence	0.30 hrs	250 /hr	\$75.00

Eisenhammer Rodick & Kohn – 3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> April 30, 2021 Invoice #: 51784

RE:	RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments.	
	TOTAL SERVICES FOR THIS MATTER	\$250.00
RE:	LITIGATION	
	TOTAL SERVICES FOR THIS MATTER	\$1,250.00
RE:	BOARD GOVERNANCE	
	TOTAL SERVICES FOR THIS MATTER	\$1,922.00
RE:	BOARD POLICIES	
	TOTAL SERVICES FOR THIS MATTER	\$0.00
RE:	FOIA-OMA	
	TOTAL SERVICES FOR THIS MATTER	\$4,895.00
RE:	STUDENTS	
	TOTAL SERVICES FOR THIS MATTER	\$445.00
RE:	2021 STUDENT HANDBOOK REVIEW	
	TOTAL SERVICES FOR THIS MATTER	\$4,159.00

Eisenhammer Rodick & Kohn –

Hinsdale 86

RE:	COMPLAINT		¢1.551.00
	TOTAL SERVICES FOR THIS MATTER		\$1,551.00
RE:	SPECIAL EDUCATION		
	TOTAL SERVICES FOR THIS MATTER		\$713.00
RE:	DISPUTE		
	TOTAL SERVICES FOR THIS MATTER		\$422.00
RE:	2021 HTHSSSA NEGOTIATIONS		
	TOTAL SERVICES FOR THIS MATTER		\$2,325.00
RE:	PERSONNEL		
	TOTAL SERVICES FOR THIS MATTER		\$5,722.00
RE:			
	TOTAL SERVICES FOR THIS MATTER		\$124.00
RE:	CONTRACTS		
	TOTAL SERVICES FOR THIS MATTER		\$2,590.00
BILL	ING SUMMARY		
	FOR PROFESSIONAL SERVICES RENDERED	92.70 hrs	\$26,368.00
	ADMINISTRATIVE EXPENSES		\$1,582.08
	TOTAL AMOUNT OF THIS BILL		\$27,950.08
	PREVIOUS BALANCE		\$117,448.00
	BALANCE DUE		\$145,398.08

Eisenhammer Rodick & Kohn -

Hinsdale 86

04/06/2021	SMR	Consult with Attorney McKeown and (Judar/OMA Request for Review)	0.20 hrs	310 /hr	\$62.00
04/06/2021	КРМ	Finalize and send re: Judar OMA request for review	0.30 hrs	250 /hr	\$75.00